T127

9. Describe the nature of the Indian state in the

last three decades.
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10.Write short notes on any two of the

following :

Fr=fefaa & 9 S &1 9v dfera feoof fafao -

(a) Directive Principles of State Policy

T & A Fews R
(b) Integration of Princely States

Ramal &1 ghisTeT

(c) Prime Minister

T

(d) Environmental movements in independent

India
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(a) Write your Roll No. on the top immediately
on receipt of this question paper.
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(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.
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(c) Attempt any five questions.
freet dfer uedt & Iox ARt
(d) All questions carry equal marks.
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Discuss the basic features of the Indian
Constitution.
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Highlight the context and challenges of
reorganising Indian states on a linguistic basis.

AE AER W 9ARGE Toh & gailes & dad
SR FAfAl 9 ST ST |

Analyse the relationship and power distribution
between Parliament and the Judiciary in India,
with special reference to the amendment of
the Constitution.

e dey & 9w ded §, 9Rg § §9g Y
AUl & o d@99 N i fReor &1
IEEGEL G

‘The politicisation of caste has strengthened
democracy in India." Do you agree with this
statement ? Explain with suitable arguments.
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Define secularism. Illustrate different debates
on secularism in India.
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'The Congress System has been replaced by
the BJP System.' Do you agree with this
statement ? Substantiate your answer with
suitable examples.
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Trace the impact of the shift from a planned
economy to a neo-liberal economy on the Indian
agricultural sector.
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Elucidate the important issues taken up by the
women's movements in India since
independence.
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